po = 4m x 10T m/A =1.26 x 10T m/A\y _ Vf—Vi:—/i E.ds

1
ko= =899 x 10° N - m?/C?
dmeg 8 m/ vV = 1 4
€ = 885x1072C?/(N-m?) dmeq v .
e = 160x107" C Vo= Eiﬂmo?
G = 6.67x 107" N -m?/kg? ' dg
h = 6.626x 10724 -5 Vo= /dv:k/7
g = 9.8m/s’ - Lo
c = 3.00x 10°n/s 2
Na = 6.02x 10% mol ™! g =
me = 9.11 x 107! kg gf/
m, = 1.67x107*" kg E, = ~
lm = 3.28ft %
1lb = 445N E = AL
leV = 1.6x107"J g o_ koo
Paluminum — 275><1O*8Qm o r
Psilver — 147X1O_SQTTL q = g"f{
Peopper = 172 107°Q - m C = == paralll
Pgold = 2.44 x 107%Q-m I o
Psteel = 20 % 107%Q - m C = 2W60m cylindrical
F k‘QIqul ab
N 72 C = dreg spherical
dg = idt b—a
_ C = d4megR sphere
E = =
QO Ceq = En 1
Ameg 12 v = L _ oy
E = az (ring) CQiC
dmey (22 + R2)* 1= 4
g z
E = —|l-——— disk _
2¢0 FMRz) (disk) I 4J dA
o = ]{ E-dA )= 5
cd = Genc V = IER
€0 E dg = (enc p = 7
E =2 (surface) E = qJ
G o = =
E = — (sheet) p
263\ R B £
E = ; (line) ’A
TEQT P I 2R
u -w
fy— K #
AV = 2277 p = =
q t
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(arc)

(two straight wires)

Mo [enc

poln

IN1
pol X 2 (toroid)
2 r
[ B-ai
BA

ddp

dt
BlLv

dp

dt
N

I

(solenoid)

(magnetic flux)

(Faraday’s Law)

(inductance)

12

At

h

<

> DX

Z5 -

pon®A  (solenoid)
di

L
dt

o~ ™

e*t/TL

Ay
h
<.
[}

—V
N,
cB
E x B
Af
{
510 (unpolarized)
Iycos® @  (polarized)
0, (reflection)
nisind;  (refraction)
.1 N2
sin”h —
n
-5
+—  (spherical)
1
S
(magnification)
s
1
1= (v/c)?
At
vAty = B
1—(v/c)?
L
=0 = Loy/1— (v/c)?
g
V1 + Vg
1+ v1vq/c?
(v — 1) me?
ymc?
hf
h
p



